3
N
X

EBRAZA / Components
No. Z# / Part name #= / Pcs # B / Material £ REME / Color-Finish
1 IL—L 4 TILEHH AT A6063S-T5 DIWIN=F I, TZVIT LIk
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 J—F—Javy 4 ABS#iE UL94HB SANTL—, TS5y
Corner block ABS UL94HB Light gray , Black
3 J—7)—3Fv 7 / Blind plug 8 ISAY / TPE S48 L—, T5v% / Light gray , Black
INAAFH STV 1 7 LR A1100P DILIN=TIRAL, Ty - BE
Slide panel Aluminium A1100P Silver * Anodized , Black * Painted
5 RLIEH/ AR 1 7ILEHR A1100P DIIIN=TIRAL, TS5y - T
Screwed panel Aluminium A1100P Silver * Anodized , Black * Painted
HATE R (X M4 x 15) 16 % =@oai—k
Screw (Pan head M4 — 15) Steel Trivalent chromate
BATER (FE{FHM M3 x 5) 12 % S ILAYE | ZlEIAA—k
Screw (Slotted raised countersunk M3 — 5) Steel Nickel plated , Black trivalent chromate
g Ty
& £ A
& SR 2

g¢ DD

r—AEE FCS - - 50
Product Number
w D BiES
Color Code
W, D T HIBR&EEH / Dimension limit range
W D
400 ~ 600 601 ~ 1000
fa /Title
[TAKACHI| HtaitsnFEMTE S A XY O]
p— @"H:ﬁ (ﬂoﬁ*gm) / Color Type (Eﬂd prOdUCt numberl]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS BOX
5C% / Code /\*}!} / Panel 71/_1_\ / Frame :l_?__ / Corner 7K &3/ Approved 1%/ Checked [ /Created FYZ/Product number RE/Scale
GSS < JLsN— / Silver < )LsS— / Silver S48 L— / Light gray
BSS < JL1S— / Silver 15— / Silver 597 / Black FCSO-01-5000 (W400~600 , D601~ 1000)
BBS < JLiN— / Silver 75v% / Black 7594 / Black iR A El 1/ 7
BBB 5597 / Black 5974 / Black 594 / Black fERE/Date 2019/09/05




L —L348] / Frame3 side

D (601~1000)

JL—L148] / Framel side

W (400~600)

=— B

L —L248] / Frame?2 side

A-A(1:7)
INAAFH IS ILERI~TiE / Slide panel Max dim. W—40

BHh~ti% / Max dim. W-46

REIEDH/NRILEZN~T % / Screwed panel Max dim. W-46

TL— LA / Frame4 side

504

B-B(1:7)

Bxh~Ti% / Max dim. 44

INAAFH ISR ILE R TiE / Slide panel Max dim. D-40
B®htiE / Max dim. D-46

13.2

C

LD /RILEITE / Screwed panel Max dim. D-46

C : 7L—LIYLKE / Frame cross—section

&

F vkl —JL / Nut rail

ASARFyRE

BFEVA T av @ R5MR Yk FZ-3 ZANSENHEXFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted

BRSHINTFERITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
2)—H A XRyIR
CUSTOM DIMENSIONS BOX

S
S

B/ Approved

iR

1% X /Checked

FFt

H[X/Created

w1l

B F /Product number
FCSO-0O-500 (W400~600 , D601~ 1000)

FRE/Scale
1:7

{ERLH /Date 2019/09/05




18.1

18.1

8.7

8.7

19.7
4
Ip]
QS «
<| -~
=
[T9) ’®)
Q /||
g
=5
0 =
<t N
9
22.7

13.7
8.2

14.7

14.7

13.7

3-M3

W-46

494

4-M4

F+vkL—JL / Nut rail

w

31.7

JL—.Is1 / Framel

i

{\ﬁ:
Y A\

fn 4 /Title
A ==
TAKACHI] #RXSH4HFEHTE SL— A O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
733/ Approved 18] /Checked H[X]/Created FIZF /Product number RE/Scale
H50.4 — W400~ 600 12
iR ESZ ) A1 3 /7
YEFL B /Date 2019/09/05




Y

n

[\

l,

a
w

i

A\

[

{0

L —.12 / Frame2

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L2

Frame2

n7j\r"’1
|

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

il

B F /Product number
H50.4 - W400~600

RE/Scale
1:2

{ERX B /Date

2019/09/05




18.1

18.1

8.7

8.7

4.05
1.2

45

1.65

2.5

19.7

o ne
t-::Jg

o
g

14.7

18 55

14.7

13.7

22.7

4-M3

D-46

49.4

4-M4

F+wkL—JL / Nut rail

31.7

JL—.L3 / Frame3

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L3

Frame3

o]

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

il

B F /Product number

H50.4 - D601~1000

RE/Scale
1:3

{ERX B /Date

2019/09/05




JL—.L\4 / Frame4d

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L4

Frame4

o]

B/ Approved

iR

1% X /Checked

FFt

H[X/Created

w1l

B F /Product number
H50.4 - D601~1000

RE/Scale
1:3

{ERLH /Date 2019/09/05




BH#TiE / Max dim. D-40

B#TiE / Max dim. D-46

INAIAFHI8A )L / Slide panel

Bxh~Ti% / Max dim. W-40

N JLFRME / Panel Frontside

RLCESDH/SRJL / Screwed panel

Bt i% / Max dim. W-46

JNARJLERTE / Panel Frontside

fREES — A

Surface protective film side

REES—HA

Surface protective film side

15

1.5

W-28.1

o
¢
a
INARJLEM / Panel Backside
W-28.5
4R 10-24.2
Lo
~
ﬁ:
475 4.75
o
[e0]
N
a
Lo
~
<t
13.75 13.75
/N JLEEME / Panel Backside
G /Title A —
= A == R
TAKACHI| #XEtahFERTE ey O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& 58/ Approved 18X /Checked #X]/Created B F /Product number RE/Scale
W400~600 - D601~ 1000 110
FiR £ S AT 7 /7

{ERX B /Date

2019/09/05




	FCS□-□-50(W400～600mm、D601～1000mm)
	FCS□-□-50(W400～600mm、D601～1000mm)2
	FCS□-□-50(W400～600mm、D601～1000mm)3
	FCS□-□-50(W400～600mm、D601～1000mm)4
	FCS□-□-50(W400～600mm、D601～1000mm)5
	FCS□-□-50(W400～600mm、D601～1000mm)6
	FCS□-□-50(W400～600mm、D601～1000mm)7

